Math 6 ?\’(\G\’\C e
Chapter 1 - Patternsdnd Equations Quiz

Question 1:

Fill out the following tables if the rule is to...

a) Multiply by (g

~_Input | Oulput
1wk (J
2 xb| \_
3kb| 1§
1N
s h| 30

Question 2:

Name: %(’Wu/a” Zw%

Score:

b) Multiply by 3 then add 9

_Input | Oulput
134 0
213y 4
3 b
4 “

5 12

Using words, what is the pattern rule for each of the following tables?

al Input | Output
4 D25
5 32
6 39
7 46

Start at 4, then multiply
by 7, then subtract 3

“Start at 50, then divide
—by 5, then multiply by 10

" b) Input | Output
50 ] 20
55 22
60 24
65 26
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Question 3:

Complete the input/output chart using the following rule: L 3y\«[-6
Input Output
a) Using words, what does 349 mean you have to do? ?
ioly dnpet by 2, ten add S |
Muthply wpsdt by S, then add :
\ ‘ \ v

b) What is the output when n = 182 UL&?LW =S5 5

357 21§+ §
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Question 4:

Do (plot) W e following points .
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Question 5:

Using the drawings, complete the table and graph the pattern.

fed

Figure1 Figure2 Figure 3 Figure 4
a) Complete the table. | b) Graph the pattern
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Question é:
Write an expression with any variable to represent each pattern rule. Use@i‘

7

S
34

:c/as your input variable.

a) Five more than a number

b) Three times a number

“\k - v‘ .
c) Mulliply the input by 10, then add 4. (b (3 t L}
2+ 4
d) Divide the input by 3, then add 4. ¢

- B 74 -2
e) Multiply the input by 7, then subtract 2. )l



EXTENSION: Question 7:

Using algebra, solve for the unknown variables. Show your work.

. a) C-8=18 ) ) 22=12+X

C - 15tY 72-12 = X
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b} 2K—7=21 d) 42+25=4Q-13 °*
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